107 & 128 (e 4s % ¢ R EHTEAREB T LRI AT A P Y 1 8

AT | 43 25 ¥
G | 1vgpoz P 5+ 8:30 1 11:00
sp | egpes SR o == 1:00 1 3:30
B | 10 9pag ¢ gl b iifigj;138°
- B S (IS I LA B R s A9 o figj ;1380
re | s psemes  [Liein
- F + 8:30 2 11:00
" brizpzr TP AR Tilzoozs:so
| 1t 15pap | eBR L o figj ;1380
%+ 8:30 2 11:00

LH | 1rieprE | AHP LF

s 12 16p 7% —’x‘»‘ﬁt‘\iyﬁ T = 1:00 2 3:30

> 5 : T :
= P 15 17p = 2 e gy (g{ﬁ) 8:30 = 11:00

T = 1:00 1 3:30

fsd | 12 1TpT = THR IS AR

. 5 1 8:30 3 11:00

= 17 18p 2p TERE ARG (1) | 1-0032 3.90
. =L .

s , 5 1 8:30 3 11:00

OO 119 an | 2PN (2R = % 1:00 2 3:30

5 1 8:30 3 11:00

378 17 922p+= THREEAT RIM (ZER )

= 1:00 1 3:30

TH | 1r2pTs [ TyREAS WP (TERrT)

XKr®wAYIRPH 1Y 23Pp 3 1% 26p »1% 29p 3 2% 2P > &
FRERD R (ZE/m T )




